
C–2722/AMT–01   P. T. O. 

No. of Printed Pages : 15 AMT–01 

CERTIFICATE PROGRAMME IN 
TEACHING OF PRIMARY SCHOOL 

MATHEMATICS / BACHELOR’S 
DEGREE PROGRAMME (CTPM/BDP) 

Term-End Examination 
December, 2024 

(APPLICATION ORIENTED COURSE) 

AMT-01 : TEACHING OF PRIMARY SCHOOL 
MATHEMATICS 

 Time : 3 Hours    Maximum Marks : 100 
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Note : (i) Question No. 1 is compulsory. 

 (ii) Do any eight questions from Q. No. 2 to 
Q. No. 10.  

1. (a) Why are ‘classification’ and ‘seriation’ 
considered pre-number concepts ? Your 
explanation should include an example. 4 

(b) Give two distinct activities to assess 
whether children of class 5 have 
understood the concept of area. 4 
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(c) Explain the possible reasoning used by a 
child who gave the following answer to the 

question 2 1
4 3
− =  ? 4 

2 1 6 4 2
4 3
− = − =  

(d) What are the concepts the child has 
understood, and those she needs to 
understand ? Explain this statement, 
“Mathematics is all around us.” Give 
reasons for your answer with two 
examples, related to different topics of 
Mathematics. 4 

(e) Is arithmetic a particularisation of algebra ? 
Explain your answer. Your explanation 
should include an example. 4 

2. Which of the following are useful principles to 

follow for a teacher in a mathematics  
classroom ? Give reasons why you consider each 
to be useful or not useful. Further, give an 
example each in support of your reasons : 10 

(i) Give children enough opportunity to talk 
about mathematical concepts among 
themselves. 
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(ii) Teaching a concept means only giving 
children shortcuts and algorithm that they 
can use to find answers to related 
questions. 

(iii) Use what children already know to teach 
new ideas ? 

(iv) Help children to pose mathematical 
questions. 

3. (a) What are three common errors children 
make in the use of protractor for 

measuring angles ? For any one of these 
errors, how would you help them realise 
the error and overcome it ? 5 

(b) What are equivalent fractions ? Give two 

fractions equivalent to 3
7

. Why must 

children understand the concept of 
equivalent fractions before they deal with 
operations on fractions ? Your explanation 

should include examples related to 
addition and multiplication of fractions. 5 
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4. (a) Give all the steps you use while solving 
each of the problems below. (Just writing 
the answer without process would not give 
marks) : 4 

(i) A note-book is sold for ` 110/- at a loss 
of 10%, what was the cost price ? 

(ii) If 12 32x+ = , find the value of x. 

(b) Explain the difference between the way the 
word ‘total’ is used in Mathematics and in 
ordinary language. Give another example, 
with justification, of a word used 
differently in Mathematics and in our day-
to-day language. 4 

(c) Prove that the sum of two consecutive 
numbers can never be divisible by 4. 2 

5. (a) Asked to find the time difference between  
4 hours 10 minutes and 2 hours 55 
minutes, a child solved it as follows : 5 

4 hours 10 minutes 

– 2 hours 55 minutes 

1 hour 55 minutes. 

What is the error, if any, she has made ? 
Further, give two distinct activities to help 
a child understand how to solve such 
problems. 
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(b) There are broadly five different types of 
real-life situations which require 

multiplication of numbers. Identify these 
situations and give a word problem each 
for these situations in the context of 
children attending a book fair. 5 

6. What does E-L-P-S stand for ? Illustrate each 

component with an example related to the 
concept of ‘variable’. Further, how does ELPS 
help a student learn ? 10 

7. (a) Explain the concept of ‘place value’ in the 

context of natural numbers. Further, 
explain how this concept is used in the 
context of decimal fractions ? Give two 

distinct activities to help a child 
understand how place value is closely 
linked to the way the decimal fractions are 
written. 7 

(b) Give an example, with justification, of a 

two-dimensional closed figure with no right 
angles, and with one line of symmetry. 3 
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8. Do you agree with the following statements ? 
Give reasons for your answers (marks are only 
for reasons) : 10 

(i) Errors are only made by children who do 
not concentrate and do not practise using 
the concepts. 

(ii) Students should be discouraged from 
estimating the answer to a problem. 

(iii) Children should strictly follow the 
procedure given by the teacher for solving 
given problems. 

(iv) There are many children in a class who are 
not capable of learning Maths. 

(v) The sum or product of any two numbers is 
greater than either of the two numbers. 

9. (a) Describe a series of three activities that 
help children understand the concept of a 
negative integer. Further, how would you 
help a class of 30 learners understand (– 5) 
is less than (– 2) ? 8 

(b) What is an ‘algorithm’ ? Give an algorithm 
for checking which of two given integers is 
greater. 2 
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10. (a) Rohit says to help children understand 
zero, he tells them to remember that ‘zero’ 

means nothing. Why is this not a good way 
to introduce ‘zero’ to children ? Explain 
your answer with reasons and examples. 3 

(b) How would you introduce children to the 
idea of ‘angles’ ? Outline two activities you 
would use. 4 

(c) Write 125 (given in base 10) in base 15 and 
in base 5. 3 
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      AMT–01 

izkbejh fo|ky; xf.kr ds vè;kiu esa 

izek.k&i=k dk;ZØe@Lukrd mikf/ dk;ZØe 

(lh- Vh- ih- ,e-@ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2024 

(O;ogkjewyd ikB~;Øe) 

,-,e-Vh--01 % izkbejh Ldwyh xf.kr fl[kkus ds rjhds 

le; % 3 ?k.Vs     vf/dre vad % 100 

Hkkfjrk % 70% 

uk sV % (i) iz'u la[;k 1 vfuok;Z gSA 

 (ii) iz'u la- 2 ls 10 rd fdUgha vkB iz'uksa ds 

mÙkj nhft,A 

1- (d)  ^oxhZdj.k* vkSj ^vuqØe* esa j[kuk la[;k&iwoZ 

vo/kj.kk,¡ D;ksa ekuh tkrh gSa \ vkids 

Li"Vhdj.k esa ,d mnkgj.k vo'; gksuk pkfg,A 

4 
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([k)  d{kk 5 ds cPps {ks=kiQy dh vo/kj.kk dks 

le> ik, gSa ;k ugha bldk vkdyu djus ds 

fy, nks vyx&vyx {ks=kksa ls xfrfof/;k¡ 

nhft,A 4 

(x)  iz'u (loky) 2 1 ?
4 3
− =  dk fuEufyf[kr mÙkj 

nsus ds fy, cPph }kjk bLrseky fd;s x;s 

laHkkfor rdZ dks Li"V dhft, % 4 

2 1 6 4 2
4 3
− = − =   

 cPph fdu vo/kj.kkvksa dks le> ikbZ gS vkSj 

mls fdu vo/kj.kkvksa dks le>us@le>kus dh 

t:jr gS \ 

(?k)  ¶xf.kr gekjs pkjksa vksj gSA¸ bl dFku dks 

Li"V dhft,A xf.kr ds vyx fo"k;ksa ls nks 

mnkgj.kksa ds lkFk vius mÙkj ds dkj.k Hkh 

crkb,A 4 

(Ä)  D;k vadxf.kr chtxf.kr dk fof'k"Vhdj.k gS \ 

vius mÙkj dks Li"V dhft,A vkids Li"Vhdj.k 

esa ,d mnkgj.k vo'; 'kkfey gksuk pkfg,A 4 
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2- xf.kr dh d{kk esa f'kf{kdk ds fy, fuEufyf[kr esa ls 

fdu fl¼kUrksa dk vuqlj.k mi;ksxh gksxk \ vki 

izR;sd fl¼kUr dks D;ksa ^mi;ksxh* ;k ^mi;ksxh ugha* 

ekurs] dkj.k crkb,A blds vkxs] vius dkj.k ds i{k 

esa izR;sd dk ,d mnkgj.k Hkh nhft, % 10 

(i) cPpksa dks vkil esa xf.kr dh vo/kj.kkvksa ds 

ckjs esa ckrphr djus ds i;kZIr volj fn, tkus 

pkfg,A 

(ii) vo/kj.kkvksa dks fl[kkus dk eryc gS dsoy 

iz'uksa ls lEcfU/r ljy mik; vkSj ,sYxksfjn~e 

crkuk rkfd mÙkj Kkr djus ds fy, os mudk 

bLrseky dj ldsaA 

(iii) cPps tks igys ls gh tkurs gSa mldk u, fopkj 

fl[kkus ds fy, iz;ksx djukA 

(iv) cPpksa dh xf.krh; iz'u iwNus esa enn djukA 

3- (d)  dks.kksa dks ekius ds fy, pk¡ns dk iz;ksx djrs 

le; cPps vkerkSj ij tks xyfr;k¡ djrs gSa 

muesa ls rhu crkb,A buesa ls fdlh Hkh ,d 

xyrh dks cPpksa dks le>kus vkSj mls nwj djus 

esa vki mudh enn dSls djsaxs \ 5 
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([k)  rqY; fHkUusa D;k gSa \ 3
7
 rqY; nks fHkUusa crkb,A 

fHkUuksa dh lafØ;k,¡ djus igys cPpksa dk rqY; 

fHkUuksa dh vo/kj.kk dks le>uk D;ksa t:jh  

gS \ vkids mÙkj esa fHkUuksa dh tek vkSj xq.kk 

ls lEcfU/r ,d mnkgj.k vo'; gksuk pkfg,A  

5 

4- (d)  os lHkh pj.k crkb, ftudk iz;ksx vki 

fuEufyf[kr izR;sd loky dks gy djus ds 

fy, djsaxs (fcuk izfØ;k crkb, dsoy mÙkj nsus 

ij vad ugha fn, tk,¡xs) % 4 

 (i)  ,d uksVcqd 10% gkfu ij ` 110 esa csph 

xbZA mldk ykxr ewY; crkb,A 

 (ii)  ;fn 12 32x+ = ] rc x  dk eku Kkr 

dhft,A 

([k)  xf.kr esa bLrseky gksus okys ^dqy* 'kCn vkSj 

vke Hkk"kk esa bLrseky gksus okys ^dqy* ds chp 

varj Li"V dhft,A iqf"V lfgr ,sls gh fdlh 

vU; 'kCn dk mnkgj.k nhft, ftldk xf.kr esa 

vkSj jkstejkZ dh ftUnxh esa vyx&vyx rjhds 

ls bLrseky fd;k tkrk gSA 4 
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(x)  fl¼ dhft, fd nks yxkrkj la[;kvksa dk ;ksx 

4 ls dHkh Hkh foHkkftr ugha gks ldrk gSA 2 

5- (d)  ,d cPph ls 4 ?kaVs 10 feuV vkSj nks ?kaVs  

55 feuV ds chp le; dk varj iwNk x;kA 

cPph us mls fuEukuqlkj gy fd;k % 5 

4 ?kaVs 10 feuV 

& 2 ?kaVs 55 feuV 

1 ?kaVk 55 feuV 

 ;fn cPph us blesa dksbZ xyrh dh gS] rks 

crkb, fd og D;k gS \ blds vkxs] ,sls 

lokyksa dks gy djuk le>kus esa enn ds fy, 

nks vyx&vyx xfrfof/;k¡ crkb,A  

([k)  jkstejkZ dh ftUnxh esa O;kid :i ls ,slh ik¡p 

izdkj dh fLFkfr;k¡ gksrh gSa ftuesa la[;kvksa dks 

xq.kk djus dh t:jr iM+rh gSA ,slh fLFkfr;ksa 

dk irk yxkb,A cPpksa ds iqLrd esys esa tkus 

ds lUnHkZ esa izR;sd fLFkfr dk ,d&,d bckjrh 

loky crkb,A 5 
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6- v- Hkk- fp- iz- ls vki D;k le>rs gSa \ pj dh 

vo/kj.kk ls lEcfU/r mnkgj.k nsrs gq, blds izR;sd 

?kVd dks Li"V dhft,A vkxs] ;g fo|kfFkZ;ksa ds 

lh[kus esa dSls lgk;rk djrk gS \ 10 

7- (d)  izkd`r la[;kvksa ds lUnHkZ esa ^LFkkuh; eku* dh 

vo/kj.kk dk o.kZu dhft,A blds vkxs] Li"V 

dhft, fd n'keyo fHkUuksa ds lUnHkZ esa bl 

vo/kj.kk dk bLrseky dSls gksrk gS \ n'keyo 

fHkUu dks fy[kus dk rjhdk LFkkuh; eku ls 

?kfu"B :i ls tqM+k gS] cPpksa dks bldks le>us 

esa enn ds fy, nks vyx&vyx xfrfof/;k¡ 

crkb,A 7 

([k)  fcuk ledks.k okyh vkSj ,d lfefr js[kk okyh 

f}&foe can vkd`fr dk iqf"V lfgr ,d 

mnkgj.k nhft,A 3 

8- D;k vki fuEufyf[kr dFkuksa ls lger gSa \ vius 

mÙkjksa ds dkj.k crkb,A (vad dsoy dkj.k crkus ij 

gh fn, tk,¡xs) % 10 

(i) ogh cPps xyfr;k¡ djrs gSa tks è;ku dsfUnzr ugha 

djrs vkSj vo/kj.kkvksa dk vH;kl ugha djrsA 
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(ii) fo|kfFkZ;ksa dks loky ds mÙkj dk vuqeku yxkus 

ds fy, izksRlkfgr ugha djuk pkfg,A 

(iii) cPpksa dks lokyksa dks gy djus ds fy, f'kf{kdk 

}kjk crkb xbZ fØ;kfof/ dk l[rh ls ikyu 

djuk pkfg,A 

(iv) d{kk esa dbZ cPps ,sls gksrs gSa ftuesa xf.kr 

lh[kus dh {kerk ugha gksrhA 

(v) fdUgha nks la[;kvksa dk ;ksx ;k xq.kuiQy muesa ls 

fdlh Hkh ,d la[;k ls cM+k gksrk gSA 

9- (d)  ½.kkRed iw.kk±d dh vo/kj.kk dks le>us esa 

enn ds fy, rhu ,d ds ckn ,d Øe esa dh 

tkus okys xfrfof/;k¡ crkb,A blds vkxs] vki 

d{kk ds 30 cPpksa dh ;g le>us esa dSls enn 

djsaxs fd (& 5)] (& 2) ls de gksrk gS \ 8 

([k)  ^,sYxksfjn~e* D;k gS \ fn, x, 2 iw.kk±dksa esa ls 

dkSu&lk cM+k gS] bldh tk¡p djus ds fy, ,d 

,sYxksfjn~e nhft,A 2 



 [ 15 ] AMT–01 

C–2722/AMT–01  P. T. O. 

10- (d)  jksfgr dk dguk gS fd cPps ^'kwU;* le>us esa 

enn ds fy, og mUgsa ;g ;kn j[kus ds fy, 

dgrk gS fd ^'kwU; dk eryc gS dqN ughaA* 

;g cPpksa dk 'kwU; ls ifjfpr djkus dk ,d 

vPNk rjhdk D;ksa ugha gSA dkj.kksa vkSj mnkgj.kksa 

}kjk viuk mÙkj Li"V dhft,A 3 

([k)  vki cPpksa dks ^dks.kksa* ds fopkj ls dSls 

ifjfpr djk,¡xs \ ftu nks xfrfof/;ksa dk vki 

bLrseky djsaxs] mudh :ijs[kk nhft,A 4 

(x)  125 (vk/kj 10 esa) dks vk/kj 15 vkSj 

vk/kj 5 dh la[;k ds :i esa fyf[k,A 3 
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